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V cap V cap V cap
distance 260 mm 130 mm 65 mm
0.125 0.091 0.066
0.132 0.092 0.0865
0.125 0.081 0.064
0.126 0.091 0.064
0.125 0.09 0.066
'Lave 0.1266 0.091 0.065
st dev 0.0030 0.0007 0.0010
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(V cap), IV cap)., time constant ¥
at time t, = 0_at timeL, = 20s
0.24 0.038 10.85
0.24 0.038 10.85
0.237 0.039 11.08
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ave 0.239 - 0.0383 10.93
st dev 0.133
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average time [5) 0.2306 0.1657 0.1184
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distance (mm) ave time Lt
0 0 0
65 0.2308 0.0023
130 0.1657 0.0024
260 0.1184 0.0062
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dt = .33 § ’t" = /0. ?3 S
|distance (mm)time t=(s ) - At* 5 . Ve, (0} . AUV E ()]
0 0 0 = 7 o o 0
65 0.0140 0.004864. . 0.1266 0.00305 0.2306
130 0.027-5:_ : 0.00478 0.081 0.00071 0.1657
260 0.0531. _ . 0.01244 0.065 0.0010 0.1184
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distance {mm)time 12 (s2)

0 0
65 0.0140
130 0.0275
260 0.0532
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.... y = 0.00046 + 0.000204x R= 1

Data 1
0.07 - L S ,h}oﬁ{sm S P

0.06

0.05-F

0.04

0.03+F

time squared (s2)

0.02

0.01-

distance {mm)

(4]



Now S wrror on g/&/p dvo £
¥ ua cm%@w;é i Y e esvrements
s fHven by Compifiny Fo s/ cee
WAL Yy wers?— max velup

g/aﬂ = 006 s = 2,308 f\’/""y_:f,a
"E, e mm , o
C,Of/.@g/w:JcMa{ o a‘khz/a-e %
- A = 361 ”7/2
h?l‘ ' 5
1 CJ/?"’/AW
M AT U 177 vV a /!/f Oﬂa/ '7“5 S‘/c/‘e
Cgfa/fz( )z 0,05";2" = [, 722 K/oﬁf _J__?‘
- 2L C ramn fhtag
= e
R S
N Ve
5 —
g = 959 o
SZ

4(7 S AV 7/ 2
Fer

4
L9 = /67

e

J

= = 4 m
7‘" ?-g;o”’/se S2’.



